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Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :
There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Answers to Questions no. 1 to 10 should be in 150 words, whereas answers to
Questions no. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer (QCA) Booklet must be
clearly struck off.
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Q1.

Q2.

Q3.

Q4.

Q5.

Q6.

IR et el § A o aEer (R D) B s w6
2 2 9RG # Yed RYHi % gAfdh 3 . atea 61 gfie w1 e S |
(150 wr=gi © e 2ifdrm)

Why is Public Private Partnership (PPP) required in infrastructural projects ?
Examine the role of PPP model in the redevelopment of Railway Stations in
India. (Answer in 150 words)

1 IER ASITET o I=d GHEST SHE GWE & 2 WRd 8 o e 6
wifed % fore oty aaw % wew 1 Seog Hifvm | (150 vregi # 3w difom)

Is inclusive growth possible under market economy ? State the significance of
financial inclusion in achieving economic growth in India.

(Answer in 150 words)

W | e faa et (fduw.) i vge gfEt w0 E 2 @ e e
ST T YGRS S "kt 2 2 (150 Weal F IR i)

What are the major challenges of Public Distribution System (PDS) in India ?
How can it be made effective and transparent ? (Answer in 150 words)

W H @re TR IE % HRieE 3 TE #1 SR 9uiT SR |
(150 wrsgi & I <ifsw)

Elaborate the scope and significance of the food processing industry in India.
(Answer in 150 words)

Wﬁm#ﬂﬁmﬁaﬁqﬁgﬁwﬁﬁmﬁﬁ@@ﬁﬁ% | 98
T AT PH-HH i F 3R 9% THUE JY 1A A IS A A F 2
(150 wreg] ® 3w o)

The increase in life expectancy in the country has led to newer health
challenges in the community. What are those challenges and what steps need
to be taken to meet them ? (Answer in 150 words)

gl 6l war W ufd ¥ 9 e § gwely verd, doem, SR 9w R | uw
dqaa o5 o wfkaett @ e @ Rl 6 98 S sreieEe, S Ao
¥ 3cd Il # uftafda & sman R 2 (150 wedi & I Afdn)

Each year a large amount of plant material, cellulose, is deposited on the

surface of Planet Earth. What are the natural processes this cellulose
undergoes before yielding carbon dioxide, water and other end products ?

(Answer in 150 words)
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Q7.

Q8.

Q9.

Q10.

Ql11.

% fmf, e 3 I ) A od BU iarkhihe Wi i fawrgEs ==
HifT | 1999 F MITaT Ferwiet I GHHAET | (150 Ieqi # I )
Discuss in detail the photochemical smog emphasizing its formation, effects
and mitigation. Explain the 1999 Gothenburg Protocol.

(Answer in 150 words)

g 3R F ey § aee wed & franfafy i we @ awssy | A F @
Jerawll i ==t HIfT | (150 et # I )

Explain the mechanism and occurrence of cloudburst in the context of the

Indian subcontinent. Discuss two recent examples. (Answer in 150 words)

nfea el % YeR i ==l Hifve | afiE e satdi T W Hsg a@nfed
Uy 3R STdeRartet & @ geyl w1 9o Hfe | (150 e I i)
Discuss the types of organised crimes. Describe the linkages between terrorists

and organised crime that exist at the national and transnational levels.

(Answer in 150 words)

wiRd #§ wqgl gue wAfea w § 2 Sl gien § gun % fou 1 aee,
Al 3t ufraTens gaal o faaemn Hifsw | (150 wsg) & I i)

What are the maritime security challenges in India ? Discuss the
organisational, technical and procedural initiatives taken to improve the

maritime security. (Answer in 150 words)

“Fret % fert w1 ek foshma o Icamesan § gfg & Fror wwa g3 ? 17 39w
! GHIEY | W8 Tgfg wfeey S yEarfaa HR St 5W Ieargehal 9 @wsitar feu fom
arfersh Ui Ieafer & wewreh &1 | (250 weal § I difw)

“Economic growth in the recent past has been led by increase in labour
productivity.” Explain this statement. Suggest the growth pattern that will
lead to creation of more jobs without compromising labour productivity.

(Answer in 250 words)
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Q12.

Q13.

Ql4.

Q15.

Q16.

wmﬁwﬁwmmwﬁwﬂmwmmm,a&zwow
TIHTfi Sofl § WIS H AW 2 37 I e F fag B | hamm S Y
afetdl gere 38 Tl St |idl § T S 32vE ufd § fRE TER geeE
B ? GHEATST | (250 wsl #f Iew difor) '

Do you think India will meet 50 percent of its energy needs from renewable

energy by 2030 ? Justify your answer. How will the shift of subsidies from
fossil fuels to renewables help achieve the above objective ? Explain.

(Answer in 250 words)

WA # Y I % fwm i SwigEl o seigeh ufEn § ger st wn
& ? (250 wsgi & I ifvre)

What are the main bottlenecks in upstream and downstream process of
marketing of agricultural products in India ? (Answer in 250 words)

wfehd $fY yomelt @ @ 2 yna # SR 3R Hinia frael F fw g7 $ oS @
g&dt 8 ? (250 wsal § I Afm) -

What is Integrated Farming System ? How is it helpful to small and marginal
farmers in India ? (Answer in 250 words)

25 fegwr, 2021 1 St TN S 39 iafe Tefiwhid qufi § TR § =g § |
3ud U SN W e At ¥ S 30 T ved % oidhe Yo @ s
A & ? 36 FeE % geT o) # & 2 uea Wi % o 3w s g @y 8
THd & ? (250 wregl # Ie Eifw)
Launched on 25" December, 2021, James Webb Space Telescope has been
much in the news since then. What are its unique features which make it
superior to its predecessor Space Telescopes ? What are the key goals of this
mission ? What potential benefits does it hold for the human race ?

(Answer in 250 words)

Aol fawm &1 smumyg fagia @1 § 2 3R 3 o w9 § 2 Hifve-19 AR H
famio 2 swredte defia fmtarei 3 wnan ggief o § 2

_ (250 1&gt | I o)
What is the basic principle behind vaccine development ? How do vaccines
work ? What approaches were adopted by the Indian vaccine manufacturers to
produce COVID-19 vaccines ? (Answer in 250 words)
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Q17.

Q18.

Q19.

Q20.

e it (v aw) i wEl Fifve o Afves ey wosmes wEl &
Joa@ HIT | FE NHied, 1997 & IATelh | Telged ST 1 SR §-4 dred!
fiered NGl & S H1 FH HH & fou FrEer suri # agensu |

(250 wrsal ¥ I Eifom)

Discuss global warming and mention its effects on the global climate. Explain
the control measures to bring down the level of greenhouse gases which cause
global warming, in the light of the Kyoto Protocol, 1997. (Answer in 250 words)

IR A T WS & HRUI TS UG il THIAGY | WAk H1 Gl HH & U
IYTeY AT TG qhATeh I 8 2 (250 Wsal H IR i)
Explain the causes and effects of coastal erosion in India. What are the
available coastal management techniques for combating the hazard ?

(Answer in 250 words)

TTEe e < fafie aw@ 91 8 2 |ge gian i gHiaal $l 2O § T@d g quia
Hifsre fop wma 3 fopa 8 % G saas TP ArgeR guen WHifd geerarye faehfEa
R (250 v=e] | I )

What are the different elements of cyber security ? Keeping in view the

challenges in cyber security, examine the extent to which India has
successfully developed a comprehensive National Cyber Security Strategy.

(Answer in 250 words)

T U ATTToeh, MR o fashmaters ge1 @ St U fuh eraft geen @t
% &9 4 yohe BT 2 | 39 T # 3w gU yEl A == Hifv o FemeEe F md@
¥ fraea it sgeatia ot 1 gama G | (250 wsa) 7 I @)

Naxalism is a social, economic and developmental issue manifesting as a

violent internal security threat. In this context, discuss the emerging issues
and suggest a multilayered strategy to tackle the menace of Naxalism.

(Answer in 250 words)
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